Do

Ratio to ALICE

10?

10

1071

0.5

13000

GeV pp
e

AR
PT(D°%) (ALICE=c andAc)

Soft QC

i
— ) .\\ -
= KNS 3
— KR ]
= - -
B DR |
= R
= *- =
— B ALICE -
[ --3-- Herwig 7.2.1 default —
I ¢ Sherpa 2.2.9 default |
:, R R R R , | P R | R B | |:
: T T T | T T T T | T T T T | T T T T | T T T |:
B 5. _
- g e, ’
; S
/I Ll-l\\
B ,'m R ‘ ..................................... *ﬁ|i| 7
i ' A : .
i 99 -
-8 .
I ‘ l l l l
0 5 10 15 20

Rivet 3.1.10, = 3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


